
Exploitation sheet 

 

Last name and first name:...………………………………………………... 

Age:………………………………………………………………………… 

Profession:………………………………………………………………......  

Marital Status:        Monogamy:                                     Polygamous:  

 

Risk Factors:          Tobacco:                     Alcohol:                       Heat exposure: 

 

Toxic professionals:   if yes, which ones 

 

Antecedents 

Cryptorchidic:                                         Orchitis:                                               

Hydrocle Cure:  

 

Testicular Trauma:                            Inguinal Hermie Cure: 

 

Torsion of the Spermatic Cord:                                   Unilateral Orchiectomy: 

 

Other: …………………………………………………………… 

 

Type infertility:              secondary:                                      primary: 

 

Duration of infertility: .......................................................................... 

 

Clinical examination data 

 

Varicocele:            Yes:                              No: 

 



The epididymis:     Normal:                Nodule:                      cyst: 

 

Testicular volume:        Normal:                           Decreased: 

 

Gynecomastia:                       Yes:                                    No: 

 

Hypopilosity:                Yes:                                             No: 

 

Makrokelie:                         Yes:                                      No: 

 

Micropenis:                          yes:                                      No: 

 

Other: ........................................................................................... 

Seminogram 

Normal: 

progressive mobility (a + b) ≥ 40%:         Athenozoospermia: 

< 5million spermatozoa / ml :                        Oligozoospermia: 

5 - 20million spermatozoa / ml :                   Teratozoospermia:  

    Azoospermia :                         Necrozoospermia:  

 serum testosterone:    normal:         high :         base:  

FSH :          normal :         high :             base:  

karyotype not realized :          Result if realized: 

 

 


